2014 A
919 150
G35, 5
1.1 1A
20
A -TW B.20W C. 10W D.0
1.2 lo
A.2A B. 1A C.—2A D.-1A
+10V 10Q o, +10V- -t 11
~ ia y * « o
10V
10Q [l100 M 20
[
1.1 1.2
1.3 %oy R
ui
A. 90kQ) B. 60kQ C. 30kQ D. 10kQ
1.4 i =1.5A u=6vV ig = 24/2 cos 5t A

A. 162 W  B. 1642/ —-45°VA

C. 1642/45°VA D. 16W

20kQ
R
10kQ — -
o—{ 1 -Doo i R J_0.0SF
+ -Doo 6 u
U + 30kQ + d 0.8H-|-
+ Uo _
[ -1 l o}
1.3 1.4
919 1 4




1.

2.

5 1.5

Li=03H L,=0.2H M=0.05H, I=10cos100t A,

i(t)=3coswt A

u(t)
A. 600cos 100t+90° V B. 600sin 100t+90° V
C. 300~/2 cos100t V D. 3002 sin100t V
1 1
6. 1.6 R=10Q oL, = =20 oL, =3Q =270
C, @C,
U =[150+60\/§COS a)t+30\/§cos3a)t]V . C,
A. 150V B. 360V C. 390V D. 510V
i(t)
= C
o e T R
D []R |
U(t) + TC
— U_s ) 2
o)
1.5 1.6
1.7 =0
i
A.2cos2t A B. cost A C. 2sint A D. sin2t A
IF/ 1H
[]IQ
i ﬁ& 1H
S, A
U/
(t=0) 4+Iv-
1.7
Go 10 )
2.1 1=2A 1 Ug 2 20V
100W
2.2 Ns No u(t)=0

u(t) =3cos(wt +30°)V i(t)= 3J2cos wt+45° A

919 2 4



u(t) =4cos(wt +30°)V i(t)

5Q |
— i(t)
20 30 +
u®OD Ns No
_l’_ J—
Du, 30 3Q[|]
2.1 2.2
2.3 a b
ip=Uz—3u,+1 1 a b u~i 2
UR iR
2.4 U, (t) = 220~/2 cos(100t + 60°)V
U,(t) =100~/2 cos(100t +60°)V 1 k 2
. K
1Q aj -3 10 2~ N 100uF
yoot R] + ! n 0.4H 0.4H I +
3V.ou g 1Q -HGRE u, (t) 10Q u, (1)
. | o o
2.3 2.4
2.5 H(s) H(1)=4 1 H(s)
2 f(t) =10cos(2t +30°) y(t)
| j@
.
1 0 g
S
2.5
65 13 )
3.1 ,Ng | =6-3U I,
3.2 A A 1A

919




1 ug 2 P
1000uF
LA A
1 N/ J
60Q —2U, + 0.4H ?
1H§
o +
% 300y, 100”E|_
3.1 3.2
3.3 Uas =38020°V Z,=30+25Q
Z=120+j54Q 1 2
4 3.4 N Z Z:B ﬂQ Uy =203/2 cos 10t V
1 ZL:].Q P 2 ZL ZL
Pmax
Ao M=0.1H
N\
7 zZ Z +
1 u
S N * *
o | /[ z o 02H3 S0.1H Y
Co
33 3.4
5 3.5 1 ue i 2
I; =1A ,ug =6&(t) V t=0 u(t)
: I +
Is  2H 6Q
o O—u
T
—F==u, 4Q
8 - -
3.5

919




